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1| 1530 g — b X X 5m67 / +1.1|5m67 / +1.1]15
2| 3559 & THAIAC 5m89 / +2.0|5m63 / +1.3|5m69 / +0.2| 5m89 / +2.0 11
3| 2197 % 3 =R 5m70 / +1.7| 5m61 / 0.0 |5m36 / +1.0| 5m70 / +1.7 |14 ond
4| 329-27 BE | KEF 5m70 / +1.0|5m70 / —0.1[5m70 / +0.9| 5m70 / —0.1]13 ond
5| 1172 = | )1 FEHE
6| 4602 X 16| FERp TR 6m17 / +0.6 X 6m19 / +0.8| 6m19 / +0.8( 5
7| 2495 kB | SO IRSIR X X X fiiks A
8| 1364 A | ndndes X X 5m61 / 0.0 | 5m61 / 0.0 |17
9| 332-52 N S ] e X 5m22 / 0.0 |5m62 / +1. 7| 5m62 / +1.7|16
10| 3054 WA iR E L 6m51 / +1.4|6m80 / +0.4|7m02 / +3.2| Tm02 / +3.2| 1 [6m80 / +0.4
11| 2577 | SRERSIR TEbe
12| 1286 YR IR | ) e X 6m08 / +0.4 X 6m08 / +0.4 ] 8
13]333-12| # fie W | SEE R X 5m37 / +0.9 X 5m37 / +0.9]19
14| 3067 HoOE | JIREL 6m64 / +1.5|6m35 / 0.2 X 6m64 / +1.5] 2
15| 3550 £ A EAIAC TEbe
16| 1537 X B R 5m58 / +2.0|5m46 / +0.2|5m53 / +1.0| 5m58 / +2.0] 18
17| 328-83 3¢ % X X 6m03 / +1.5[ 6m03 / +1.5[ 9
18] 1363 AR E = X 5md8 / +0.8|5m71 / +1.8| 5m71 / +1.8]12
19| 473 B K| AT b
20| 3620 F£ | B.W.A.C. 5m91 / +0.6|6ml4 / +1.7(5m98 / +1.0| 6mld / +1.7| 7
21| 1923 B | BRAEER 6m61 / +0.6|6m62 / +0.4|6m57 / +1.2| 6m62 / +0.4| 3
22| 3556 Bk EHIAC X 5m08 / +1.2 X 5m08 / +1.2 |21
23| 1362 o=l Iy 1 Blar= 6mll / +1.7|6m02 / —0.1|6ml7 / +3.5[6ml7 / +3.5| 6 [6ml1l / +1.7
24| 2928 R OBE | whE TR FEbe
25| 1529 W om b X 5m20 / +0.5 X 5m20 / +0.5 |20
26| 1361 SR LB = 5m98 / +0.3|6m00 / +0.5|5m90 / +2.3| 6m00 / +0.5 |10
27| 491 =R | BlAES X 3m85 / +0.7|3m64 / +1.5]| 3m85 / +0.7]22
28| 1746 BOK | BATEK X X 6mb5 / +1.5| 6m55 / +1.5]| 4
29| 4610 BE & | MR FEME
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1|376-34| # H & A Ephh 2| 4m45 [4m72 / +1.2|4m58 / +0.1 X 4m72 / +1.2|16
2| 1978 | # 1 ¢ ER | HRREERE | 2| 4m50 | 4m78 / +0.7| 4m96 / 0.0 | 4m75 / 0.0 | 4m96 / 0.0 |12
31328-89| 1= & Pk | ndJIR | 3] 5m29 |5m30 / +0.7|5mll / +0.4|5mll / +0.4] 5m30 / +0.7| 2 ond
4| 1538 | kK B — 4 i e 1| 5m40 |4m94 / +1.3|5m02 / +1.4|5m00 / +0.7|5m02 / +1.4| 8 ond
5|331-83| & i BE SR 3| 4m95 |4mb50 / +1.2|5m30 / +0.3|4m86 / +0.6] 5m30 / +0.3| 3 ond
6| 1988 | #u M B K | HAEEESS | 1| 5m50 |5md6 / +0.8|5m44 / +1.1|5m38 / +0.4| 5m46 / +0.8| 1
70332-22| # H M K el o 2| 4m65 |4m53 / +1.5| 4m67 / 0.0 X 4m67 / 0.0 |18
8|337-02 | AL fd KBA| whiET 3| 5ml5 |5m02 / +1.3|4m76 / —0.4|4m66 / +1.4| 5m02 / +1.3| 9 ond
9| 487 W % K| AR | 1| 5m30 |4m66 / +0.7| 4m60 / 0.0 |5m04 / +1.0| 5m04 / +1.0| 7
10| 3476 | K A K| Indi R 5m00 TEbe
11| 337-05| &2 F & %% Ph 3| 4m50 |4m45 / +0.6|4ml4 / +0.1 X 4m45 / +0.6 |22
12| 1195 | F 8 & & | 0d)isE | 1] 5m00 [3m99 / +1.5| 4ml0 / 0.0 |4ml6 / +0. 7| 4m16 / +0.7 |24
13| 1535 | fifl % B H AR 1| 5m30 X 5m01 / +0.5 X 5m01 / +0.5 |11 ond
14]397-04 | A% B 3 A | #EEMET | 3| 5md0 |4m51 / +0.6|4m05 / +2.0[4m51 / +0.6| 4mb1 / +0.6 |21
15 1774 | fiv FE W A NI 2 | 5m50 TEbe
16| 338-88| F [ J= Hi EHH 2| 4m45 X 4m61 / +0.5|4m39 / +1.7| 4m61 / +0.5[20
171333-21| A JII % A | “EREEH | 2 | 4m72 |4m71 / +0.5 X X 4m71 / +0.5 |17
18] 339-03| /v ¥ 3% K WERE 3| 4m50 |4m33 / +1.3|2m70 / —0.1|4m23 / +0.6| 4m33 / +1.3]23
19]328-84| & # = & | A | 3| 5m39 X 4m96 / +1.3|5m01 / +1. 4| 5m01 / +1.4]10 ond
20(343-62| & E M E L 1| 4m50 |4m84 / +1.2|4m86 / +0.6|4m78 / +0.8| 4m86 / +0.6 | 14
21(333-02| 76 JIl 22 B | SERBET | 1| 4m50 |[4m01 / +1.4[4mll / +1.5|4m02 / +1.2| 4ml1 / +1.5|25
22(335-35| W @ fF = BT 3| 5m27 |5m05 / +5.21/5m21 / +1.8|5m22 / +1.4|5m22 / +1.4| 4
23| 329-62 | B/ )Il 283k | KEH 2 | 4m50 - - 4m95 / +1.2| 4m95 / +1.2 |13
24| 3630 | fT L HE E | B.WAC 4m80 | 4m32 / +0.1|4m27 / +1.1|4m64 / +1.2| 4m64 / +1.2]19
25| 1492 | K 7 M K | Indy)IEEE | 2 | 5m30 M
26| 1982 | & & Il B | EEEES | 2| 5m00 |5ml2 / 0.7 — — 5ml2 / -0.7] 5
27| 3478 | % @ fE | N )IpER 5md0 | 4m82 / 0.0 |4m86 / +0.4|5m08 / +2.1| 5m08 / +2.1| 6 |4m86 / +0. 4
28(331-61| JL #H  #f HrEs 2| 5m20 X X X [t
291328-63| 72 H F M| kg | 2| 4mT77 X 4m83 / +0.5 X 4m83 / +0.5 |15
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1]333-03| F K W | SEREEF | 1| 4m30 |2m97 / +1.6|3m03 / +2.6|2m65 / +1.0[ 3m03 / +2.6|26|2m97 / +1.6
20339-22| 1 B H & R 1 2m78 / +0.1|3m02 / +1.4|2m74 / +1.6|3m02 / +1.4 |27

31331-15| X (b Z2 k& SR 1 3m58 / +1.2[4m01 / +0.5|4m03 / +1.2[ 4m03 / +1.2]12

41337-15| & W 1@ R 2| 3m60 X 3m38 / 0.0 |3m30 / +2.8| 3m38 / 0.0 |24

5(328-23| | A& @ A | ndIF |1 2m79 / +1.1{3m47 / -0.1|2m90 / +1.8| 3m47 / —0.1[22 ond
6|337-14| @ [ A P 2| 4m34 |4m26 / +0.8|4m32 / —0.2|4mi6 / +1.2|4m32 / -0.2| 8

7133124 B B BB SR 1 3m59 / +0.7[4m59 / +1.3|4ml3 / +1.0[ 4m59 / +1.3| 6

81329-55 |4 Bk F—ER| OKkm 2| 3m90 |3m78 / +0.5|3m79 / +2.4|3md7 / +1.7| 3m79 / +2.4|16[3m78 / +0.5
9|331-11| H M #E =F e 1 3m42 / +0.2|3m47 / +1.9|3m22 / +1.3| 3m47 / +1.9 (21 ond
10| 339-28| 1 1§ % M R 1 2m77 / +1.9|2m69 / +1.8 X 2m77 / +1.9|28

11 329-62| H L # 5% oK e 1 3m61 / +2.5 X 3m94 / +1.2(3m94 / +1.2| 14

12/ 328-92 | = % (1 ot Eilg |3 4m88 / +0.9|4m66 / +1.3 X 4m88 / +0.9 3

13/361-26| 76 JII AL Fe A 1| 4m27 |2m75 / +1.1|3m75 / +0.7|3m77 / +0.5| 3m77 / +0.5]|17

14 331-14| tH H B A L 1 3m48 / +0.6|3m55 / +0.8 X 3m55 / +0.8]20

15329-66| 4 # & & | KET 1 X 3m75 / +1.6|3m92 / +2.9| 3m92 / +2.9|15[3m75 / +1.6
16/332-01| X ¥ — #H efi] o 1 4m26 / 0.0 |4m05 / +1.3|4m07 / +2.9| 4m26 / 0.0 | 9

17 339-27| #& 3 % X BErE 1 4m91 / 0.5 X X 4m91 / -0.5] 2

18]332-23| Ji M R S H 2| 4m43 | 4m60 / 0.0 X 4m79 / +2.6| 4m79 / +2.6| 4 | 4m60 / 0.0

19| 331-16| JIl k5L Pt HEs 1 3m68 / +1.0|3m71 / +1.3|4ml6 / +3.6( 4m16 / +3.6[10|3m71 / +1.3
20(328-30| /v & R SR | andid |1 X 3m56 / +1.4|3m34 / +1.9| 3m56 / +1.4 |19

21(331-22 | # W B A HEs 1 4ml15 / 0.0 | 4m02 / +1.4|4m08 / +2.9| 4ml5 / 0.0 |11

22(334-73 | /NIl WE A | EOEWH | 2| 4m40 | 4m76 / 0.0 |4m69 / +1.4|4m36 / +0.9| 4m76 / 0.0 [ 5

23331-13| A1 J’R B K HEs 1 4m02 / 0.0 |3m64 / ~1.1|3m99 / +2.2| 4m02 / 0.0 |13

241339-24| £ W J& % WERE 1 3md7 / +1.7 X 3m74 / +2. 1| 3m74 / +2.1(18]3m47 / +1.7

25 328-20| # £ 2 | nd)id |1 4m99 / +0.6|4ml7 / -1.2|4m71 / +1.8[ 4m99 / +0.6| 1

26(331-62| M D5 M HrEs 2| 4m07 | 4m44 / 0.0 [3m49 / -0.1 X 4md44 / 0.0 | 7

27|339-23| & I B Ak WERE 1 3m29 / 0.0 X 3md6 / +1.6| 3md6 / +1.6 |23

28[329-65| A1 RE oK e 1 X 3ml6 / +1.3 X 3ml6 / +1.3 |25
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